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The Starting Code Purchased in Bookstore Should
By Now’ve Been Used to Register & Subsequently Sign In
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Micro-homily:

skipping to ~ p. 34!

3 M. Chi: Self-testers end up being self-made.

“What category of English sentences does logic focus on?”



The Formal Language

CHAPTER 2. PROPOSITIONAL CALCULUS

Syntax Formula Type Sample Representation

P,P,,P;,Q,Q,,... Atomic Formulas “Larry is lucky.” as L,

) Negation “Gary isn't lucky.” as -l

Q1A...AQp Conjunction “Both Larry and Carl are lucky.” asL; AL,
@Q1V...V@pn Disjunction “Either Billy is lucky or Alvinis.” as L, v L,
Q—Y Conditional (Implication) “If Ron is lucky, so is Frank.” as L, —L¢

Q— Y Biconditional (Coimplication)  “Tim is lucky ifand only if Kim is.” as L;«— Ly

Table 2.1: Syntax of the Propositional Calculus. Note that ¢, ¥, and ¢; stand for
arbitrary formulas.
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Exercise: Is this language Roger-decidable! Prove it!
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Better Formal Language: Pure Predicate Calculus
(presented via formal grammar)
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Exercise: Is this language also Roger-decidable? Prove it!
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